_U@ﬁ-éﬂ — Gurg N Y
Part-A — General Studies

Qurss mﬁuauduradT :150

Serrsser : 1-100
Total Marks : 150

Questions :1-100

1. Which one of the following pairs is wrongly matched?

Revolt Area
() Ramosis —  Poona - wed
jiatory- 67
(II) Kuka —  Punjab His7eg -
(I) Santhals ~ — Orissa pol) - o A
(IV) Kittur —  Malabar Ladties
- N/
(A) (D and (ITD) only Fcorord — T N
I1T) and (IV) only ez =1 7 e
(C) (IV) only LD e
(D) (III) only @;,ujvas"‘il - 4 9 \
(E) Answer not known T N1 = ) ﬁ u))‘}"(f“
Qeraucsld @eamaaticd geupraeHe sa(HLly. : e
Hariisd) L@&S 0 l’)){"ﬁg = e 9 ud
(1) grGuorélev — g i
(II) @sn —  uEpemTl D, & 9 — i 7
(III) spseav —  efler Yk
| — c 4
IV) 8@ —  weurf ﬁ}?ér}“\"’b‘ ,_______.%
@A) (D) wpgod A11) LLED | ¢® 9 u%w
(B) (II) wpyd (IV) wL @
(C) AV) vl
(D) (III) w @b
(E) oSanr Qg fMweieere
CCSE2T/2024
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2. “Problem of the Rupee” is the thesis submitted by
r. B.R. Ambedkar
(B) M.G. Ranade
(C) J.C. Kumarappa
(D) Mahalanobis

(E) ‘Answer not known

“murder Grssever” eremp < euEanseni grINSSTT.

(A Lnsii O gyt pCLESH
(B)  war. Gsr. prenCGL
(C) Gg.4. @Il |
- (D) vareCamey
(E) e QsMweldrena

3. Who wrote a series of articles entitled ‘New Lamps for Old’?
(A) Dinshaw Wacha
(B) Dadabhai Naoroji
(C) Surendranath Banerjee

)D)’.)Aurobindo Ghosh
(E) /Answer not known
Py, ombisy Sumt Ceumdy:’
erSlweur wimdy

(A)  Seragr cunssr

B)  srerumn GperCmg))
©) &Crpdnmns ureied
(D) 276 ECg Ca el
(E) o&en Qs fwedane

CCSE2T/2024 4



Match the following correct Institutions with its location :
(a) NIFPHATT 1. Bangalore |
() CICEF

2. Kochi
(c) NFDB 3. Chennai
(d) CAA 4. Hyderabad

@ ®m @© @
A 1 2 3

4
jB*)7 1 -4 3
C) "2 4 1 3
D) 3 1 4 2
(E) Answer not known

Dereusd Hmeuahsmer sigern &flumear QmulLsgLer GuTBHESaD :

(a) NIFPHATT 1. QuriuseEsm ;
; Kk
(b) CICEF 2. Qarsdl 1y pta @tmfjaboo 3
(c) NFDB 3. Qagerenan
(d) CAA 4. angyTUS
@ ® © @
A4 1 2 3 4
®2 1 4 3
(C) 2 1 1 3
®3 1 4 2
(E) e Qgflwelerenew
5 | CCSE2T/2024
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ion [A] : In India, the traditional small scale indUStrjes
5. Assertion ' have greater employment potential thanp the
modern small scale industries.

Reason [R] : The value of capital per worker in traditiony

2280 : ;
t small scale industries is smaller than the valye
“capital per worker in the modern small sca

industries.

&) Both [A] and [R] are true and [R] is the correct explanation
of [A]

(B) Both [A]

of [A]
(C) [A] is true but [R] is false
(D) [A] is false but [R] is true
(E) Answer not known

and [R] are true but [R] is not a correct explanation

sapm [A] @pdwurefey umgbufy ApQsmPasar LS
Ceuenaveumiitiany B er Sy Csmfesamaradl
QUG Sl ermer.

smyemtid [R] LTFBLAL fnQsmPasaia G‘lg,rr@eurrm@é;@ Csameutiu@b
(CAlV- T2 Y ST Gdpanse b mpeSer Ao Qsmfosefd
Qg,n@mnm@&@ CoanauriL@in ELP QLG 6ot WSl
DFls0r86,1b 2 @Targ). :

(-KﬂA] womid [R] @ram@w s wpmid [R] eremug [Alssrer sfwmey

eflenésib .

B)  [A] wimn [R] @renpn s permed [R] Tarug [AlWer sfluime
aflatgad @dene |

(C)  [A] 6 syame [R] seugy
(D) [A] sauy wyamas [R] o
(E) &lenr Gafwefdrene,

CCSE2T/2024 6




6.

Which of the following statement is correct?

(a)

(b)

(A)

(B)
(©)

Moth (a) and (b) are incorrect

Equitable development is the main target of Eleventh Five

Year Plan (XI FYP)

Rapid, sustainable and more inclusive growth are main targets

of Eleventh Five Year Plan.

Both (a) and (b) are correct
(b) alone 1s correct

(a) alone is correct

.?.s’c):.o o b —

| & Lnpsabost
(E) Answer not known T //Zé’b““ v | =)

\QemeumeuaneupmieT erg) sfluimarene ?

(a)
(b)

(A)
B)
(©)
D)
(E)

swggleunner parGanppd 11lag gbsrar®'s S Lgder GHrésLmELD.
<ifGausiorar, Heowrer wHnD SHsCILGLITET 2 e SEw eueTiT&s)
1leug mpsmem®s HLgdear pafw Cprésmiaem@nd

(a) wpmwb (b) @raw@o sflurereey

(b) wr_@Hw sflurarg

(a) v sflwurarg

(a) wppid (b) @rearGd soumTarana

efler QgMwelcrena

" CCsEZT/2024
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7.

- fl.
the following is correct regarding the target o Iteracy
Which among

- Plan? . i
o Tentk.l rease of literacy to 75% within the plan period
0 1IncC '

i literacy to 80% within the plan per?od
Eg; :;Z ;ﬁzzzzz zi literacy to 70% w.ith'in the plan Perilzj
(D) to increase of literacy to 85% within the plan per

r not known |

(@E;ngzs:zmgjeh vesnan® srasdd sflurar sdeflwmde] CsTLiumey
@ose
A) HrLssrasdo 75 aflsar_rs sdellwudeled o wirey
B) Hissrasdo 80 sarrs sweludeld o wiay
(&) Sl ssrasdod 70 o sar_ns seelilwdlelleh 2 wiray
D) @L'_L_Sarrwg,gldj 85 aflpasm_na soalilwleller o wiray
(E) eflerr GgMwelcrana

Consider the following statements and identify the correct answer :

(A) The Central CIC is eligible for reappointment but the State
CIC is not eligible for reappointment

(B) The State CIC ig eligible for reappointment but the Central
CIC is not eligible for reappointment

th are eligible for reappointment

Both are not eligible for reappointment
(E) Answer not known

(©)

©) @oaumsstn wofluwernn grg
D) Qoaumsstn wLOBubenD Frg




Find out the incorrect statement about the Sarkaria Commission :

(i) The Commission was appointed on 1983

(1)) The Commission made 247 recommendations

(iii) The Commission recommended to scrap the Article 356

(iv) The Commission recommended that the residuary POWers of

taxation should be given to the states
i) and (iv) only
(B) (ii) and (i11) only
(C) only (iv) |
D) (i), (iii) and (iv) T h&ta

(E) Answer not known

@ tn preboik?

srssTALT Speearmud upBlu seuprer sapblaer seTLh&

() sraamiur gearub 1983-b b gHuBSsLU-LS
(i) @5 b 247 ufipgersmar 2efgs)

(i) snp 356-g BsEausHE Qbs Y@aub Llba®TSSS)

(iv) afduded seer a@Giu smmsd wrilemsaliLbd  @®HEs
CaugnBo erenm Qb5 eamuid Lfbgiamrsss.

(A) (iii) wpmb (1v) wIED
B) (i) wpgd (iii) wr G
(C) () v pw

(D) (i), (111) wHgbd (iv)
(E) o Qsfueidema

‘ [Turn over



10. Choose the correct pair:

Name of the President
(1) Dr. S. Radha Krishnan
(2) Dr. Zakir Hussain
(3) Fakhruddin Ali Ahmed
(4) N. Sanjeeva Reddy

(A) (1) and (2) are correct

m3) and (4) are corréct

(E) Answer not known
sfluner @evameni s :
GlwreEs seneweur QL

(1) Dr. S. jrgr Agpegeman
(2) Dr. sngr 2 Cger

(3) LB e @105

(4) N. sgpéa Qg

B) (1) 0ppid (@) sfiuireng
(©) (3) wppid (4) sMwireng

(E) oflen Qgfweldvena

CCSE2T/2024

Elected Year
- 1961
- 1966
- 1974
- 1977
(B) (2) and (3) are correct

(D) (1) and (4) are correct

CaibQs@ésiu L <267 ()
- 1961

- 1966

- 1974

~ 1977
B) (2) wpmn (3) sfwneng

(D) (1) womb (4) sflwreang

10




11. Find out the incorrectly matched.

(1)

(i1)
(i)
(iv)

(B)
©)
(D)
(E)

Article 18 —  Abolition of Titles

Article 21— Protection of life and personal liberty
Article 23— Protection against arrest

Article 20 -  Right to free movement

11) and (1v) are incorrectly matched
(11) and (i11) are incorrectly matched
(1) and (iv) are incorrectly matched
(i) and (iv) are incorrectly matched

Answer not known T neka a4 P_ft);oa N

Epssan_cupmieT Seupren G)enerren s MHs :

(@)
(11)

(iii)
(1v)
(A)
(B)
©)
(D)
(E)

sl omiy 18  — ulLms®E @UiS5D

siLoguy2l - eWiaumpsed wHmIb safl wafls aFBSTSSDSTEN
- uTgsmuY

sl omuy 23— @& QewiuGeudembg LTHSTUL

UL &@uq 20 —  &ghdyons pLwrheugnsrear 2 fanw

(iil) wHmb (V) seupTear Genemr
(ii) whmid (111) geuprer Genenr
(i) wpmpd (1v) seuprer @enenr
(i1) wpmd (1v) seuprer @ever
e Qsflweldena

3 CCSE2T/2024
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Which of the Vedic Gods is described as the “Destroyer of citieg
12 1C

; Jﬁ)ﬂndra
(A) Agni

(C) Rudra (D) Vishnu

(E) Answer not known

.' . .‘?
BeThiseer it aramgy ahg Geugd sLajer SPluiiLGEpmi?
(A) sisaf B) @nsiyer

©)  msyan (D) efleipam
(E) ofenr QafNweldena

13.  Which one of the following is not correct about Harappan culture?

Harappan sites are urban character
(B) The Harappan cities de

pended on villages for food ang
labourers

(©)

(D) The most distinctive feature of Lothal 1s dockyard
(E) Answer not known

Harappan remains discovered even at small village sites

&@&WL@JE@J@: LT Brssfsi Li) SUDTRT Sadm) ergy 2

(A) ey brsflagde simeanss @Lris@sd pay Br&faih Clsreir.g
(B) anguiun DETRIGET 2 anreds s

snibE b s

@b, umﬂu.mmr‘r&;@é;ssrraamm Emorisener

(C) anyriun braflasder orésmsar Sdlws Symonisafig b SlevLsdlampg
(D) Canggaler Hpwi s SlOD (&b c%@)ﬁ)
(E) dfler Qfwefdrene

12
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14. The Gupta emperors before Chandragupta-1I issued only
coins.

(&) Aold

(B) Silver

(C) Tin

(D) Copper

(E) Answer not known

@rarLmd  FHET  GSUSHES WHSW (GUS  LDETTTSET
prexrwriseer L (HiGw Geuaflud L e

(A) smsbd

(B) Qeuerafl

(C) ssyw .
(D) Qswby jn!"V‘ 2 £n F_s‘c_Jvd K3
(E) efen QzMweiicvene

15. Hagque-i-Sharb (or) Hasil-i-Sharb means

(A) Land Tax Migation Tax
(C) Commercial Tax (D) Toll Tax

(E) Answer not known

anTé-@)-egmi) HwG aNalld-@)-agTil eremugen Qummeir

A) Ho eufl (B) gruunser eufl
C) aafls el D) sms el
(E)  eflen QpMwefdrene
13 CCSE2T/2024
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16. Which of the following 18 correctly paired’

(i) Hematite Ore — Oxide of iron
(ii) Magnetite Ore — Black ore

(111) Limonite —  Dolomite

(iv) Siderite —  Iron Carbonate
(A) (@) only

(B) (i) and (iii) only

mi), (ii) and (iv) only

(D) (iii) and (iv) only

(E) Answer not known

Yeraupeuaneupied erevay sMuwms, Qeenss L Herarer?

() Qamwerr &gl - QoY gsme
(i) GusarerLr g - &GOy sy
(1) ACwrenent - GLmeewnr

(iv) &Acany - .,L@@mq smiLCart
@A) @) v ew

(B) () wogs (iii) we G

© @), (D) wopw (iv) e Guo

D) (i) wppd (iv) we go

(E) &fleor Qsfueioma

CCSE2T/2024 14




17.

Densification and compaction are unit operations that are used to

increase the density of recovered materials to reduce transportation
costs and simplify storage. This method is used in

(A) Composting of degradable waste in MSW

(B) Transportation and Transfer station storage of MSW
L@((bonstruction of Landfill site for MSW

(D) Processing and the Recovery of waste components from MSW

(E) Answer not known

Trsta B tnpse?®

SILiEE wHpD sEHESD aarug CursGearsss sweismend G@DUUSHSD.
CelliLsdans arefllsné@eugn @b, BSr@L@pésiul L QumpL_safler
siLisHeou fslss’ LuaLOL oG CFUIOUTHSET FGWD. @bz e
Gereumn mps popuid vweaLRSSULESDS 2 |

(A) MSW@e w&@h @LeUsSmEr 2 Jné@se
(B) MSWger Gurs@aursg wppid uflorbp Hlaow Cefliiy
(C) MSWsanar fleow Blyuyn sagder si_Hiomard

(D) MSWallpig sifle) sapaamens GswrsEgd wHMD B QAL H&sD

(E) elev QsMweierane

15 CCSE2T/2024
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18. Recently in Dubai, cloud seeding technology is used to get artificial rain

The most commonly used seeding agents among the following are

(1) Silver iodide

(2) Dryice

(3) Sodium chloride
(4) Lead iodide

Ammonium sulphate

}/}) (2) and (3) only

(B) (3), (4) and (5) only
(C) (1), (3) and (5) only
(D) (1), () and (4) only
(E) Answer not known

Sigmewwld, gurdd Gos efasiiy GsmAdmr L Qeunas wenpenw Gum
HweTUHSSLLL L g).

Sléireu (meuereuhmeT Teney Qungeurs alleng iy

WPS6UTEETTS
2 LGUrdEaslILBSS L@ Harmer ?

(1) Qeuerell 2CurerL @
(2) o wiuef

(3) Gsmquib &Carmeniy(H
4) Fu SCuUreLE

(5) <@wCwurefuib seCuL

A) (1), (2) wpgw (3) wr o
B 3), @) wppw (5) WL {HILb
©€) (D), ) vppw (5) LG
D) (D), 3) wpmw (4) e Gos
(E) e GaNwelidana

CCSE2T/2024 18 ﬁ




19. ‘Tamil Nadu Day’ celebrated every year on
(A) June 8 (B) June 18
(C) dJuly 8 /(D}’FUIY 18

(E) Answer not known

‘SPETEH Hend geaiQaurm eumLp @bs Harsdeo QararLr_uG &g

(A) g9 8 (B) gOen 18
€) goeow 8 (D) gOwe 18
(E) Ser Gsflueioeme
Tns#a322"” & i g2 LR

90. Which of the following is correctly paired?
(1) 2014 — Target Olympic Podium Scheme
(2) 2023 — Mera Yuva Bharat (MY Bharat)
(3) 1982 — Sports Authority of India (SAI)

(4) 1984 — Dronacharya Award was instituted
(A) Only (3) is correct ) and (2) are correct
(C) Only (4) 1s correct (D)’ (3) and (4) are correct

(E) Answer not known

&QS&@TI_QJ‘D'@GD sAunst QUImHSSIUL L G)eeanT eTencu ?

(1) 2014 — gdwds G Qos&s b

2) 2023 — aeg @eerw umsnd (MY unmg)

(3) 1982 — @pHu deerwn’ ® geanrwind (SAI)

(4) 1984 — gGyrewnésrflumt eflmg Hmeutiul L g

A) (3) v @b &f (B) (1) womibd (2) sf

©) (4) v &f (D) (3) womind (4) &
(E) &ferL Qsfluaidena

B 17 CCSE2T/2024
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L ' t]

(A) 6.25 x 10" electrons
(B) 6.023 x 10* electrons

(C) 1.6 x 10" electrons

(D) 3.8 x 10*° electrons

(E) Answer not known

0.5 A BarGam L gaflgpd eflarée anfurs @ran® L hser Unidps
aafle, eflerée aufCu Qaarm ardlmblenanamissefen eremenflsans

(A)  6.25 x 10" qravsi_grensar

(B) 6.023 x 10® eras jranser

(C) 1.6 x 107" aasgrensdr

MS x 10%° CTQ&L_FTena 6T

(E) e9eni Qs fwelcrena

22. ISRO prefer to launch Human space flight mission during
75% independence, the (crew member) explorer is named as

(A) Astronaut (B) Cosmonaut
agannaut (D) Ganganaut
(E) Answer not known

Grdu elanQaseh oy iiay DOWSHTD TO6ug) :8h8 7 ar Curgy gautiL@b
weflgamens  Qamain() Qgdvgy b demsasdear ol amrQeuaf LIWwI@oTLd
CuopLlameT@pid @&t 2 giinllent erebeumpy SIMYP&ESLILIHeUTT?

(A)  <pev Crrpm (B) sravGunmm

(C) snampr D) smsmpm

(E) ofen GsMwellcrana

CCSE2T/2024 18 B




93. Select the chronological order of mentor — student chain in the

establishment of scientific methods

(A) Aristotle — Alexander — Socrates — Plato
(B) Plato — Socrates — Aristotle — Alexander
Mcrates — Plato — Aristotle — Alexander
(D) Alexander — Aristotle — Socrates — Plato

(E) Answer not known

T hpagFa @’ﬁnfwook)

eflgpEprar  (pEDS@aT fneyaufle efsmy - wresreuit  ghddlew

sroaufasiuy CaThosH&se|b

(A) ofevmiged - SQaseTaLiT — FN&TIRE — e M,
(B) QG GLr — &Té&TIeed — siflevLmiige — DEedemeirLit
(C) snsmed — QCem_GLT — SflcvLmiiged — SGadsmamm i
(D) @Qassrari — dfldvLm_igd — srépedn — 9Cem G

(E) e Qsflwueldame

B 19 CCSE2T/2024
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24. A force of 1N acts on a body of mass 10 kg. As'a res.ult, t}.le bOdy
| covers 100 cm in 4 seconds moving along a straight line. Fing the
initial velocity of the body.
(A) 6cm/s
B §oms
(C) 8cm/s
(D) 12 cm/s
(E) Answer not known

10 &Gar aeLwydmear g Qurmefieo 1IN eflers Gswoudng. Gsar

cflevereuns ops Qumrmar 4 oflammgsefies 100 Qs.8 CprGamiued Bagmnb
el Dger gymibL Cousgnss sam_flwayb.

M&.Lﬁmﬁ]mnq
5 Ba.18/ef ey,
(©) SGE.LB/aﬁ]Gurmq.

(D) 12 Qs.18/efrmy
(E) o9enr Qs flwelcrene

25.  Green light shines on a rose flower. Then, t
to be

(A) Green | (B) Pink

-«efﬁlack (D) Red

(E) Answer not known

he colour of its petals seems

2 Crmgr fpriyeld Lsems gofl gafirellsdpg. wiGung, 2B @ s1paafar
Blpwres Carenmeug

(A) uvées - | (B) Gleuefliidleuriy
(C) smiy (D) Aauuy
(E) eflan Gsfuefdane

20
CCSE2T/2024 ﬁ




96. The

2.

Neyveli Lignite Corporation was established by the

Government of India in the year

) 1956 (B) 1972
(C) 1980 (D) 1959
(E) Answer not known
QpwCead elsear.  sriuGrager Hpeuertd @BHu  ATETED eruGungl
HmeutiulLgi? _
(A) 1956 (B) 1972
(C) 1980 (D) 1959
(E) Mer Qzflwaidama

Arrange the following universities in chronological order based on
the year of establishment :

(1) Manonmaniam Sundaranar University
(2) Bharathidasan University cLaoks
‘{)—ry?_.?
(3) Thiruvalluvar University TIro P4 m &
(4) Periyar University
@ @, @06 «BY ), (1), @), 3)
©) (1), (2),4),B) D) (1), (3), 4),
(E) Answer not known
QarauHld LOS@OEEHPEHBISDET HDe Apeutiul L garger sroaflesiuly
RPIG®ESELD
(1)  wGamemperflub SHHSTET LOSEDOEEPEID
(2) umydsnsdn LOSMESPSD
(B) SHmeudt@neulil LOSMOEHPED
(4) Quflum’ LUOEMOESPSLD
A 2 ’ 4 ’ 1 ’
@ @,@), 0, ® @, ), @, @)
© 1), @, @, 0 D) (1), @) @) @
(E) &fen QgfMweddene - ’
21 CCSE2T/2024
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28. Assertion [A] :

Reason [R]

Backward class commission under chair mansh]-r
of B.P. Mandal was appointed by the PreSidem )

exercise of the powers confessed by Article 24

The commission has developed eleven 1ndic.51tm,S
to determine backwardness.

(A) [A] is true but [R] is false
(B) Both [A] and [R] are true: and [R] is the correct explanatig,

of [A]

‘Le{] [A] is false, [R] is true

(D) "Both [A] and [R] are true; but [R] is not the correct explanatiop

of [A]

(E) Answer not known

sapm [A]

ampemid [R]

sLLulfley 2406y WL saEG  eupmsILC L
S PsmsHenig gemdud  B.P. e a eTeiTLIGUEnY
GDuGssuLC L u@GU e mésnan OIS  FDeuTs
Bunfggmi.
Qevaureemwuin Gengrdlu fep

waw Siworefss Ll Qe
GO&T 1 senar & (heun&dluyerear

A4) [A] sfluneng oyemme [R) sauprang,

(B) [A] wpmo [R] @ran@o sflwnang; Cogib [R]

slwrer eerdan

2 G [A]Qﬂ,fj)esrra'r

(©) [A] Sauprarg; [R] sflwneng

(D) [A] womw [R] Qem@ib sflunang;

sfluren elleésid o@ma

gamd [R] ag [Alefnsrar

(E) ol Qsfluciome

CCSE2T/2024
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99. Match the following :

(a) Non-Brahmin Movement 1

(b) Self-Respect Movement 2. E.V. Ramasamy

(¢) Shuddhi Movement 3. Dayananda Saraswathi
(d) Sathya Shodhak Samaj Movement 4

Jyothi Rao Phule

Sri Sahu Mahara]
@ ® (@© (@

@2 1 4 3
1 4 2 3
© 2 3 4 1
m 2 3 4

(E) Answer not known gmam) > 7. , S5 RD

T hb7=
Spssarcupepll CUTHSHIS :
(a) QrmoeyoerGsTt Quissd 1. (ngrr‘ef,lurrsu LG
(b) swwAwrems QuESLD 2. m.Qeu. gmwEmd
() evosd QussDd 3. swrabs Freveud)
(d) ssw Gemgrs swmY Qussid 4. f snE weTTR
@ ® (@© (@
A) 2 1 4 3
B 1 4 2 3
©C) 2 3 4 1
D) 1 2 .38 4
(E) e Qs fwelldene
B . 23 CCSE2T/2024
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‘] 30.

Ar e the following events in chronological order about E-V-R,
rang -

(1) He became the President of Justice Party

(2) He joined Congress

| 3) He became President of Tamil Nadu Congress Committee

(4) He organised Vaikom Satyagraha

” B) 4), (1), (3), (2)
2), (4), 3), (1)
| g/ézi 23), (4), (1) D) (3), (1), (4), (2)

I (E) ’Answer not known

m.Qeu.gm. upi sre euflerstiug Yemeumd Hlape sMeT (MRS DESE]LD.
! (1) @i $ds s duller sepeeurr yarr
| (2) et sridyeded Gaipgmi

3) st sAPETE sy s st @it

(4) oassd ssHurdysid gleuslarmr :

@A) (@), 4, ®), @) B) (@), (1), ), 2

©) @), 3), @, Q) (D) (3), @), 4), (2)
(E) oo Qsfuaioma : .

g 31.  “Vaanalum Selvamum Mannarasum Yaan Venden”

[I don’t want rule the sky, wealth and monarch]

Who said these words?

(A) Ramalinga Adigalar ;g)/iundarar

(C) Nammalvar ) Kulasekharar
(E) Answer not known

“auranm@nid Qedeuapd amamysD wirenGeuemGLeir” — ereimy UIMiq Wit
(A) @rrodis <9|IQ ST
(C) mpwrpeuns

(E) dflev Qsfueiaranq

(B) spgni
(D) &Gy
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32. Match correctly the Newspapers associated with its Founders :

(a) Richard Johnston 1. Madras Courier

(b) G.P. Pillai 9. Madras Mail

(c) Charles Lawson and Henry Cornish ‘3. Madras Standard

(d) G. Subramania Iyer 4. The Hindu

@ G (@ @

A)1 3 2 a4

(B) 1 2 3 4 e
C) 2 8 4 1

™3 2 1 4

(E) Answer not known | Inb'}a Hwar @ Er ?ScJ;GGCA

CasmpmelsgeuisesLer Qgr_yeaLw Geudssreer sflwrs QurmSsayb :

(a) Masr® gmeae 1. wgymev safwi
(b) G.P. Qerener 2. wgrmev Qoudied
(c) &6 emser WHMID 3. wsymev GvLmerLir(®

Qamerrfl smief ey
d) G.sugweflu gui 4. 8 ablpg

@ ® @© @

A 1 3 2 4
B) 1 2 3 4
©) 2 3 4 1
D) 3 2 1 4

(E) efeni Qs flweférena
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33.

!‘ 1 ] o »
N [
(I (

Number ‘two’ re ﬂ% v tht @fl‘hirukkural
([\) l’m\fl‘l‘h (D) AathiSO()di

(C) Naaladiyar

7)) Answer not known o
(K) Answer no | — G sy
“mrgud  @pemHin G]mmi)@)w;@)mjgﬂ G

@Mlddletma,) 2 | | -

(A) u}p@mngﬂ (B) ﬂ@-g,@mm

(C)  prevguim (D) =pdlé@

(E) e Qsfueidana

34.  According to Valluvar, which will be considered with ulmost

gratitude?

(A)  As Bamboo as Benefit (Bﬂs Millet as Benefit
(C) As Sea as Benefit ‘ (D) As Mount as Benefit
(E) Answer not known

TS ‘Uearnuearey betMunss Qsmdreut erar cuaT@peu &ML GEmm?
(A)  epmder siaray genﬁﬂ (B) foer ey [iz000)

O sLe <era me) (D) oo sere; parh

(E)_ allen Qs Mwiedrensy

35. “Kallaarai Kaanungal Kalvi Nalga
Kasadarukku thookkumaram angae undaam”
Who wrote these lines?
Bharathidasan (B) Kannathasan

(C) Vannathasan (D) Vaanithasan

(E) Answer not known

BTN TS SN s Hahel [BeD& M

&ELM6&S Gré@wnD omCs o Gl mh”

@lésellang s @né@, o Mwe wirio ;

(A) unmyfsnaen (B) & 0TI & 1 iy

(C) eueimemgnaey (D) aneflgrsan

(E) oflenr QsMweflcrana
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36. The Pakistan resolution was passed by the All India Muslim League

at its Lahore Session on
(A) March 5t 1933

(B) August 5th, 1933

March 23rd 1940

(D) March 22nd, 1941

(E) Answer not known

sok
s losram @ b3t
ofe @by pavdd &6 urddvgrer Sioraides OTET  LOTHTL I

atiQuns BepGapilug ?
(A) Ln;rﬁ& 5, 1933

(B) wsevr 5, 1933

(C) wmie 23, 1940

(D) g 22, 1941

(E)  efen QsMweferena
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. of the following is equg)
DE = 9R3S4TH then which one
If ABCDE = P1Q2
¢ VTA.
to Q2BFV7/ N -

(A) BQ2V7GP1
(C) BQ2V7EP1 (D) BQ2U6GP1
(E) Answer not known

37.

5 Qa smier Q2BFV7
ABCDE = P1Q2R3S4T5 aean @apsred Garapaeapper @ A

TRTUSDG FOLOTRTG 6T ?

(A) BQ2V7GP1 (B) BQ2UGEP1

(©) BQ2V7EP1 MQ2U6GP1
(E) oL Gsfweldama

38.  Gopi sold a laptop at 12% gain. If it had been sold for Rs. 1,200
more, the gain would have been 20%. Find the cost price of the

laptop.

M . 15,000

(B) Rs. 16,000

(C) Rs. 14,000

(D) Rs. 15,500

(E) Answer not known

wn

Card @wm wvyssaflaflau 12% Qorusdve Ao, Cogib  sias

@ 1.200-66 mbsars dpfopsre @arun 20% ws @ Y
i sseflafldien oi_s6 alewmus s UG S

(A) . 15,000
(B) e 16,000

(C) em. 14,000

(D) . 15,500

(E) eioL Opiudiaama
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39.

40.

41.

What_is 20% of 30% in 500?

0 (B) 150
(C) 75 (D) 100
(E) Answer not known
500 @er 30% wHu9® 20% eremen?
A) 30 (B) 150
(C) 75 (D) 100
(B) e Ogflucidma :

Find the missing number in the series.
4, 18,7, 100, 180, 294, 448

kA)/,?s B) 50

(C) 58 D60 syasse™

(E) Answer not known PPy
Qar@asnur L Asr_Adwbg eHELLL craneans srans. @ Erys
4,18, ?, 100, 180, 294, 448 o
(A) 48 B) 50
(C) 58 (D) 60
(E) ofer Qgflweiidama :
The sum of first n natural numbers is 253, then find the value of n.
(B) 18
C) 24 (D) 16
(E) Answer not known
wpsd n Qué aansefilar ambsd 253 aafle, n-@dr WA srdns.
(4) 22 (B) 18
\5) 24 (D) 16
(E) e QgRwieierana
29 CCSE2T/2024
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42. 1f fox=cat then xerox may be equal to

(A) terct
(B) tcroa
(C) terot
(D) terat

(E) Answer not known

fox=cat aafle> xerox GeTLg eTH@man @&Mé@h?

(A) terct
(B) tcroa

(0) rot
(D!)ti‘rat

(E) &9enr Qs flwueicene

43. Three dice thrown at once. Find the
numbers in all dice

1
(A) s (B)

o L ®

(E) Answer not known

CPETD  LSEDL_&6T QETMINE o
crenn Sl 6 Hlapsse, erenar?

» | ®)
1
© 3 (D)

(E) oflenr GoMuelerana

30
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probability of getting same

1

216

1

9

Qb Gy

L
216

L
2




44

lee (I:I\f'(?d surface area of a right circular cylinder of height 7 cm 1s
66 cm?. Find the diameter of the cylinder.

(A) 2cm
(B) 4cm
(C) 6cm
(D) 3cem
(E) Answer not known

66 #.Q8.85 euemerurUIyeLW G Goieul L 2 (Henarullen 2 WL 7 Q.8 eraflev,
o (mevemuller eSlL b seRTs.

(A) 2Q@e8
(B) 4@s.8

%G&.Lﬁ
Q&5
(E) e Ggflueicwena iz trysc ook

A B

The value of a motor cycle 2 years ago was Rs. 80,000. It depreciates
at the rate of 4% p.a. in first year. In second year it increases by
4% p.a. Find the present value.

(A) Rs. 76,800
(B) Rs. 80,000
(C) Rs. 80,128
s. 79,872
(E) Answer not known

Qm ses7 aunsend gaflear doe @Qranh peTOsEsE e . 80,000.

WED e emaHG 4% GOpADE. Gram_md ; 0 ,
aafler @igar sHGUIM@SW Gl erame ? 9 & 4% sHaNsdng

(A) e 76,800
(B) . 80,000
(C) em. 80,128
(D) m. 79,872
(E) el Qsflueldena
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: t 5 a.m, all the four Phoy,

1. Tl.]ere. e lon Ceu’lr‘)}?;::eeasftleg,at}}:g l;isrztine rings.every 20 Ming, t}?s

oo togelthzl‘-e‘rery 30 mins, the third one nlzgs eevigxl 3}[1) Miip,

:i(‘; Izgcofr’:)i:zﬁgone rings every 50 mins. At what time, e foy,

cell phones ring together again?

(A 1PM.

B) 1AM.

P.M.
(D) 3AM.
(E) Answer not known

“lg.d 3 wCuflser o eTear. ST O LDGMﬂéS@,. T
E%mgjgg@gnggmi a;;aﬂei;@m. Ger e SwaCGuilunarg @m@surr@
20 Al rusafigyin, @ram_reug seaGuél gaQeaurm 30 Bl msafign,
tpeprag swaCudl gaidenm 40 Hlkseligin, presreug amaGus
ga@eurm 50 Bll_iseligid galsdamer erafld, ime WBa@r@b eriGug
RIS Qedl& @b ?

(A) Gpused 1 wenf
(B) WwHused 1 wenfl
C) Gpused 3 wanf
D) QHLEED 3 wenfl
- (E) &e Qsflweldene

47. IfHCF of x3'—-8y3 and x2 —kzyz 1s x + ky then value of k&

64{)201'—2 | (B) +2
€)' -2

M) 0
(E) Answer not known

x3—8y3 WHmIb xz—k2y2 6t LBuG]u(r__r, Gumg UGss x + ky éraﬂsb ke

gl
(A) 2 soag -2 B) +2
€ -2 D) 0

(E) ot Qsflwelcrana
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48.

49,

50.

[n how many months the principal of Rs. 2,000 will double at 8% per
annum in simple interest?

(A) 144 months (B) 150 months
(C) 120 months (D) 140 months
(E) Answer not known

safl auly oot @iEd . 2,000, 8% aulgaSssHd @rigurs el
LOTSHD D@D ?

(A) 144 vrsrser ,(’BV 150 wrgmse
(C) 120 wrgrser (D) 140 wrgrisar

(E) ofer Qsflweiicrane

The L.C.M. of 3, 2.7 and 0.09 is |
A 2.7 (B) 0.27
(C) 0.027 - (D) 27

(E) Answer not known @ £
) '}"QST""‘)
3, 2.7 wpgd 0.09 e 5.8.10 a1

A) 2.7 (B) 0.27

(C) 0.027 }»’;ﬂ

(E) eleo Qsflusiieena

Which one of the following lies between 37 and 4/5°?
@) 2 B) 3
©) 4 D) 5

(E) Answer not known

spasramuapdio ag YT wppo V5 Gapdise Qs siemwyn?
4) «/5 /(,Bﬁ’ﬁ

0 ¥4 ® B

(E) eler Qsflweliérena
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51.  Arrange the following Books of Jawaharlal Nehru in Chronologi

order considering their year of publication.

(1)
(2)
(3)
(4)

An Autobiography : Toward Freedom
Glimpses of world History
The Discovery of India

Before Freedom

(4), 3), (2), (1)

@(\2} 1), (3), (4)

(©)

@), 3), (4), (1)

D) (@), @), (3), 1)

(E)

DEUAD TevTEd

Answer not known

Crmedler  mrevsenar i@ Geuefud i

Sig e e sreeuflensiL(gg)s :

(1)
(2)
(3)
(4)
(A)
(B)
(C)
(D)
(E)

@t sweflans : sgpdyn Cprad
208 QTR @if Lnfreney |
Gipdurafar seim@i9g
58bATBEDE (e

(4), 3), (2), (1)

(2), (1), (3), (4)

(2), (3), 4), (1)

(2), 4), (3), (1)

aflent G flueidena
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59. Who among the following had started ‘Mitra Mela’ Association?
(A) Shyamji Krishna Varma
‘Bﬁinayak Damodar Savarkar
(C) Lala Hardayal
(D) Sohan Singh Bakna

(E) Answer not known

Qaraumeuareupdler ‘Wgrm Guarn’ srssms Ggrrduel Wi ?
(A) eigwrdg) &(meipenr o
(B) eIpTwé sTCWLIST sTeUTHST
(C) orer apigwmer

(D) Gsraper S LT

(E) efer Qzflweiidama

Trpassam (2T LB

53. Who founded the All-India Muslim League in 19067
(A) Muhammad Ali J innah
Khwaja Salimullah
(C)/ Sir Aga Khan
(D) A.K. Faizul Haq

(E) Answer not known

soasdpHiu poved &6 sslemu 1906-é Bmiedluig wim?
(A) wswg 26 eremm

(B)  seungr sellgpararn

(C). & Q& &med

D) a.Cs. ausd ansé

(B) eflor Qpfuscfidrene
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: d .
54. Assertion [A] :  Swami Vivekananda founde Ramakr] h,
1 ssert '

Mission to popularise the teachings of his Mas,
: 1951 monastic or
Reason [R] : Ramakrishna Mission was a dep ang

devoted itself to the spiritual development of May, |
(A) [A]is true, [R] is false
)B)’) Both [A] and [R] are true and [R] is the correct explanatjg,
" of [A]
(C) [A]1s false, [R] 1s true
(D) Both [A] and [R] are true, but [R] is not the correct explanatior
of [A]
(E) Answer not known

amopm [A] 1 seumd) clCeusmangir sy Gmeller  Gursearsaa

LTOiU @i meisest agener Hlmedermi.
amyexrd [R] Qrrodlpepant Bagen 80 SDAUD Si@LUY WHMID 248
waflgafer < erfs uai&éls@ seranan Situuaflgss.
®) [A] of, [R] peup |
(B)  [A] wigib [R] af, [R] [A]@eyeni ws sflwimen Aargsin

(€)  [A] saug, [R] s

(D) [A] wogw [R] sf 2@ [R], [AlGgiew sfureg aflerés 06
(E) efler Gsfluedena
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55. Arrange the following studies of Poverty in India in chronological
order :

(1)
(2)
3)
(4)
(&)
(B)
(©)
(D)
(E)

Ojha’s study

Bardhan’s study

Minhas study

Dandekar and Rath study
(), 4), (1), @)

(1), (4), 3), (2)

3), 2), (1), 4)

(2), (1), 3), (4)

Answer not known

@pdwreiler  eumienio ubdlw

RIS ESALD :

(1)
2)
3)
(4)
(&)
(B)
©)
(D)
(E)

PR U6y

LitgTeT 2liay

Slemammen ii6y

pemGL &I HHID TS D6,
(2), (4), (1), (3)

(1), (4), 3), (2)

3), (2), (1), (4)

(2), (1), (3), (4)
ellen. Qs flweidena

37

Gemeu(mid

I}qj'}zﬁ é)/,bnf_y_),aot_?

< LIa|senar sroeuflensuig
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i B3  throu rh d]g]tcll technuh, "
Farmer’s income throug Bley,

56. Inorder to double the
action should be taken from

S olicies and ref
() Technology generation and dissemination, p Ormg

and development initiatives
(1) Policies and Reforms
() Reforms and Development

(iv) Artificial Intelligence

(A) (i) only JB)/(} and (iv)

(©) (i) and (iii) (D) (iv) only
(E) Answer not known
QL& QemAdm ks eped Neusmuilsef e QU(BLOTEISMS @ 1o LILINEs

Thés Ceuairgw pL el bens

(1) Qsmflem L 2MaumsEsd  wHMD  uged, Qsrdrassdr HMID
gl masrser LHmIb euaTiad) smsdsar
(1)  Qsrarass@nib, 18 mesmis @b
(111) & mis e, penGenmmptd
(iv) Qswhens e et dley L

(A) () v (B) () wogn (iv)
(C) (1) whpid (iii) (D) () v @
(E) oflenr WsMwueidene
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57.

Match the following :

(a) Tax Revenue 1. Interest receipts

(b) Non-tax revenue 2. Net market borrowings

(c) Capital receipts 3. Taxes on Income and Expenditure

@@ () (o)
990/37 1 2
(B) 1 2 3
© 2 1 3
D) 3 2 1

(E) Answer not known

oyt
fnﬁrf—)f"
Tnite &

Qereumeuaeupenn G@UT(HSSS :

(a) euf eumeuml 1. alyg 1és

(b) eufl S@ers aumaurds 2. Hey speos &L_GTGET

(€) epeger TES&ET 3. eumworar wHmib QFwe| Bgrer euilsar
@ b (©

A) 3 1 2

B) 1 2 3

) 2 1 3

(D) -3 2 1

(E) el Qgsflwelerane
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58. Match the following :

Enacted Year
(a) 1963 1.

(b) 1991
(¢) 1971
(d) 1951

‘K{?) (b) C

B) 1
€ 4 3 2
D) 2 1 4

(E) Answer not known

LW = = N

Spsadr_apaps Qunpg:

Quppu L e

(a) 1963 3
(b) 1991
() 1971
(d) 1951
@ ® (o (d)

(A) 3 4 1
(B) 1 2 3
(C) 4 3 92
(D) 2 1 4
(E) efen Gsflwefidana

e )

CCSE2T/2024

(d)

Name of the Act
Prevention of Insults to National

Honour Act

Representation of People Act
Government of Union Territory Act |
Government of National Capital
Territory of Delhi Act

&LL@@G&T Quuwir
[BTL_ig 6T Gu@mm SladssLupaumss
gL Gy &b

wésar Gy Hldsgieus s i
Qpdu gerdlwls UGEH& sl ib

Calug seansi @
&L_LLD ; Lod) gemflui LGSE

40 ﬁ



59 Assertion [A] : Governor in the Indian Federal System 1s
assigned dual role, as the constitutional Head of
the State as well as the representative of the

Centre.

Reason [R]  : The Office of Governor is against the Federal
structure.
(A) [A] 1s true, but [R] is false

(B) Both [A] and [R] are true, and [R] is the correct explanation
of [A]

(C) [A] is false, [R] 1s true
)I?Both [A] and [R] are true, but [R] 1s not the correct explanation

ak [ % Lrpeckotks

(E) Answer not known L 314

ampy [A] 1 @B gl L &G, pEnpr, Sgfler gemeeli LOHDID
widu gflar GrdHlgl erened @@ edgwrear Uemilsmar
QewiSmmir.

gryewrd [R] ¢ penpi erarn HpeuarG sl LT §&@ adrrans)

(A)  smpm [A] &f, garme smyewrd [R] seum

(B) smpmy [A] wpmibd sTrED [R] &fl, Cogibd sapm [Alssrer  sfwmen
SNergswns smeard [R] o drerg

(C) smnm [A] seum. smyewmd [R] &

D) sapp [A] wppd smyemd [R] Qe ofl, eyarre snpp {Alésme
sfAlwmen elendsons sryeard [R] Qdeva

(E) adlenr_ Qg Muwieiicbene
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60. The framers of the Constitution incorporated the dutieg o "
. i
g

in the constitution in the form of the

(A) Fundamental Duties

(B) Fundamental Rights

wirective principle of state policy

(D) Rights of Citizen

(E) Answer not known

Sirélw : ' 1515
THUQMLLUMU 2 (heunsdweuisdr T8l L bseTTS 37flueand e

85 augaisde Coiggar.

(A)

SUUDL SLeninagr
HGLUUDL 2 Aepinger
S Qs g, GBhlpenmaar
(D)

Ot 08s@nsana o f) DG

(E) e Qﬁ'ﬂ*uaﬁlmmm

CCSE2T/2024
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61.

62.

Which of the following bodies doesn't/don’t find mention in the
Constitution?

(1) National Development Council
2) NITI Aayog
(3) Election Commission

(4) Finance Commission

(Aa/()) and (2) only (B) (2) only

(C) (1) and (4) only (D) (1), (2) and (3) only

(E) Answer not known

SpeTL ‘@qmmuq&éﬂm CTENGL [ CTENGUSHET SrflweenlLE FULSH
asrramuul__eﬁldmmm?

(1) Gsdlu euaniddls W
2) B Cwurs

(3) Gsiised yenarrwid Iﬂé%ﬂ @ £r RS c ookt
(4) H ypememuid

(A) (1) wpmb (2) LB (B) (2) wi(®w

C©) (1) whppid (4) LG M) (1), (2) womd (3) LG

(E) oo QzMwellcoenad

Who among the following is the only woman historian to have
written a historical account of Mughal period?

(A‘/C?rulbadan Begum (B) Zeenat-un-Nisa Begum

(C) Jahanara Begum (D) Zeb-un-Nissa Begum

(E) Answer not known

19\ Gb16u (LI GU T&(@THET psonuiseiler sTLsH®  bL ; Np——
m@@g)@ca Quei aug@rhy <pSflwi wimi? prps eugemdy HEp®
A)  Gougen Guab (B) @mng_&@_‘@&n GQusLD

© saemym GUSLD (D) G’]&U-P_GBT—,‘_F,]&rr CLsD

(E) oSeni Qg Mweilerame
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63. Which one of (he following is false with regard to the reign of

Ahmad Shah?
4] from Gulbarga to Bidar (1425)

(A) He transferred his capit

(B) The rivalary between the Dakshin party and foreign party
became accentuated during his period

(C) He conquered Warrangal in 1424-25

Lm/’l:ﬂ annexed the kingdom of Gujarat to his Empire

(E) Answer not known

&g apnaler <y Aufld G @@ulﬁh;l_euﬁ)gﬂeﬁ 618 HEUMMTETS) ?

(A)  seapser Gouissrelambg SLTmé@ wrhdeani (1425)

(B) st stosfd  Lsfar  Gueln@nd Qaeflpm 0d  Gassn
gerderar Cursd unm Cusiul () aubss)

(C) 1424-250 ya@mqed eumgiise eram QL b easluHOLILLL g
D) ©gis res sear CupysLan Qeensgs Qe e
(E) el QsNweddame

64. Who called India as “Ethnological Museum”?

(A) R.C. Majumdar _ (B) R.K. Mookerji

(E) Answer not known

GrAwn om ‘wells @asdn DABRST Awisid ere DADPSHEUT Wi 2
(A) =il DGR LD it B) «yi.Cs paired)
Ca. qpair
(C) @6,1193- M evad) (D) a9
6. euillg

(E) @&flent Qgiluiefdena
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65. Which of the following Hay

66.

appan sites are not in India?
Mohenjodara ; :

W J a and Harappa (B) Lothal and Kalibangan

(C) Bhanwali and Ropar

" (D) Surkotada and Dholavira
(E) Answer not known

S&SHETL_6uUMHm) e i - '
@%}mm? PoeT ethg anyliun prsfes serisdr sH6UTE ) B winatils
(A)  QurserssnGrr whmib epguunr  (B) Cangad whgb HeslLbEET
(C)  wvereumed whHmd emuim

(E) eflen Qsfweldvena

(D) &iCam_mn whgn Caremaly

Around 25 districts in the east coast; 10 1in Tamil Nadu,
7 in Andhra Pradesh, 6 in Odisha and 2 in West Bengal - are
vulnerable to cyclonic storms. Among these, which area accounts to
70 percent of the cyclones of severe categories?

(A) Chilika region

(B) Nellore region
Lol
(C) Machillipatinam T rd - @ EnySC )

}Ef}urxdarbans Area
(E) /Answer not known
@Q$@é& sLpeeyulleh & 25 wreul Lriuser; sOpHTLgd 10, <pyresla 72
gugneiles 6, HMID CopE mssdd 2 - @preefl  Ludsarmed

UM &&LILL &8 g LIGHE. @aupdled, e LEHUTEE SH@LUTE IS
Luéaseld 70 #5618 Lndllienu SeLWb?

(A) Adsr LGS
(B) Qpagni UGS
(C) w&feduiigertd

(D) a;‘r_‘rggﬂjeuwau@é] |
(E) eleni_ Glg,rﬂmaﬁld)sma}
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68. The northern upland of the Karnataka Plateau is known as

(Walnad

(B) Betwa
| (C) Dhasan

(D) Maidan

(E) Answer not known

gg)“;éf&uugggg@ﬁ@ aLsE  feougoy ——— i
(A)  wroBT@H

(B) Quieum

(C) snaen

(D) evwLme
(E) ol Gpflweiicvera

69. Which Ministry launched the Digital Intelligence Platform (DIP)
and ‘Chakshu’ facility on Sanchar Saathi portal?

(A) Ministry of Power

(B) Ministry of Civil Aviation T b 14 @F&”?JC‘L vee
inistry of Communications and Information

(D) Ministry of Earth Sciences

(E) Answer not known

ThS D@DEESD FEHEMT sngd GumiLedled el e m@TaBla) GeTd WHHILD

‘Frbege euFSHew Qgrrdwgl? :

(A) Hér HWEFESD

(B) fedé> afloman CUTEGTSE SH@DESHD

(C) sseud Ggmy S|DEEFSHLD

(D) el sidleflwed SieDEESD

(E) efe Qsflwecame

B : 47 CCSE2T/2024
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70.

Match the following :

Part |

(1) India
(b) Japan
(¢) United States
(d) China
Codes

@ O © @
(B) 2 1 4 5
m 4 1 3
(D) b 3 1 9
(E) Answer not knOWn
Sleteumeuareupenm QU”@,&@& :

usd 1
(a) @pdur
(b) gl_',lun'eh
(c) =Qulssr
(d) &emn
@)QS]US(B&G‘TT:

(a) (b) (c) ()
4 5 2 3 4
(B) 2 1 4 .
(C) 2 4 1 g
(D) 5 3 | ,

(E) elent Usflueleang

CCSE2T/2024
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Part 11
Bald Eagle
Dolphin
Peony
Cherry blossom
Royal Bengal Tiger

ued 11
UWPEMS &S
Lmeb A et
G Cw e
Qs eviéd)

ST&F GU"-:‘J‘HSLJL]QS]



71.

12,

Zf;%:gi:;ij? given the “Shily Awards” by the Ministry of Textiles
(A) tolegendary drama aptige
(B) torural women entrepreneyys
(C) legendary farmerg
ﬁ:ﬁ? legendary crafts person
(E) Answer not known
gejetl  wHDD  Asmfdseon wwwsssssrd  Aon  AmEsET  WTHEES
aupmslILOEDg 2
A) ysPQUOD BILsE G E (GH T8 (@Thé (&
(B) &grouym Ques G\g,rr@sbgpmcur@mrrfr
C) ysPQuHD efeusmufser
D) ysQupp mselmensd sameaE,ise
(E) ofenL Qggrﬂu_lsﬁsbsmu
| T e @ ook

Some parts of the moon never see sunlight. Because the axis of the

moon 1s to the direction of the Sun’s light.
Merpendicular (B) Parallel
(C) Same (D) Opposite

(E) Answer not known

Paclar flo ugdsear aiGurgnd @ilu gefllear LmTgsGsuildveney. erer
aampred  Haeder Fs Gflu gafllar  Hamsse

E:3
B mrugTe. N
(A)  Qsmi@ssns (B) Qaemuns
(C) swwns (D) ardlyng
(E)  efen Qgflucidema

- (CCSE2T/2024
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73.  Match the following :
L.
(a) CO:
(b) NO.

(¢) Lead (Pb) 3.
(d) Hydrocarbons (HC) 4.
@ O @© @

@3 3 1 4
(B) 2 1 4 3
©) 3 2 1 4
(E) Answer not known
Serepaaraibenps Qurmsge :
(a) COq i
(b) NO,
(©) snrfwn (Pb) o
(d) @A Gy ey (HC) 4
; ¢ d)
(A) 2 3 1 )
(B 2 1 4 ;
(C) 3 9 ] ;
(D) 2 4 3
' 1
(E) eflem &,Ig,ﬁlumﬁld;ma)
CCSE2T/2024
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Ground water pollutigp, ang
particulate in ajy
Global warming

Acid rain

An ingredient for the for

- Matigy of
photochemical smog

Bossy Bir wrsung LOHMID srHile
2_GTe &I&(@H(, Wrs

L6l Geutiuwwiorge
Sifle wanyp

2ol Gaudu e Lersuad
E-GaIn@Geughsrer e ppel@UnheT



74.

o) |

Assertion [A] : 2.4.1 used as herbicid
Reason [R] : 2.4.]D Induces i
| fertilization.
(A) Al 1s true, [R] is the Correct explanati
( oth [A] and [R] are true Srnenen
(0) [A] 1s false, [R] is true
(D) [A] 1s true, [R] is not the
(E) Answer not known

production of fruits

correct explanation

spm (Al 1 2-4-D seassroduns Qewaupdng
sryed [R] 2-4-D smayprod safl o meurs srmamondns.
(A) [A] sNwrengy, [R] sfwnear e9arésio

B) [A] wpmiw [R] sflwrerg

(C) [A] seumneng, [R] sflwnang

(D) [A] sflwneng [R] sflwren efarssiflorene

(E) o&Nevr Gsfwelevena

without

rile G Earestn

Objectivity, Predictability and Generality are the features of

cientific method
(B) ‘Scientific enquiry
(C) Scientific attitude
(D) Scientific experiment
(E) Answer not known

LDeUWILILIL L SETemLD, warsafliigsaen  whmb  QUIE®LSSETELW

S Auemey ———— e HDEFRISETTE DS DS).
(A)  fleflwé @penD

(B)  w@ibleflwe ellgmyeent

(C)  yfleuich e ILITeenLD

(D) el LfGaTgen

(E) o Qs fluiciihme
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ot (‘\-pansion/meaning of “CEDAW”
ysion and development of Ado]
eSQent

P ral

76. ldentify the corre
(A) ("(mvvntinn of

Women , s s T,
(B) Convention of the execution of different ideas for Women

' the expal

(C) Convention on the elimination of all forms of diSCTiminat'
10

;1g;1inst women ' .
D) Congregation of the eradication of all forms of discriminat'

against women 10
(E) Answer not known
lj?ms‘u@memmﬁ),lﬂei) “CEDAW”  eretim aﬂrﬂwngggéjm/gun@mm o
Caiih 05 ([H&s6yLD. FMlungs
Q) aeri@erd umea@uamseafiar parGardod wHmID 6 fleurss s
(B) Quensenssrar LGN SHES (HEUTESHE

il M S(HSGH (HEUTHSBIGSENET Ew'ﬂ@@ﬂ)*—'lu@g@g
(C) Quams@nse adlyrar s@ansg efls Lm@UTL ;

s GUIT-lg @aruib 55@@-@@@@
(D) QuerseErés ot y ' )

g @5 QUWGM SiMeTHG)| 615];1) HTGHUML_1g 6H@uTW LD @@QU,&JE}&WGE

(E) oSen Qsfuefevenay

-1
|

Which one of the féll ing i
ow
data for the state of Tanlnrillgli;gu()?ne-smp source for all the geospatial
(A) Tamil N ; .
(B) Tamil Niiﬁ giﬁiﬁ?ﬁ?"al Positioning System (TNGPS)
(C) Tamil bhical Informatio
1l Nadu Globg] Information Syst:msg'l&flt\?(l}nIé?NGIS)

(D) Tamil Nagy
Glob C
(E) Answer not knowil POSltmnmg System (TNGPS)

BBIpHT(H) o Hled )

© F Dé&m i

1l @Gy Gl sdla a_m;;fismemgél Heluwids siraysenien G araui i
@ ahreu(meuarall)

(A)  s8lpmi el g, s,
-
(C) sbpmIG 2 EETER 5

A
(D) sbppn) 2 wsemmeg,, ﬁG:Jm DAoLy
(E) ofenr Ggfluicidena, PULIR & 560 Sy

CCSE2T12024 - B



78. 'The United Nation has declared 1987 as

(A) International year of Girl Children
(B)/I]lternat.iomll year of Shelter for the homeless
(C) International year of Women

(D) International year of Cleanliness

(E)  Answer not known

1987 - 8 ————— 915 gadw BT senLs 2iHlellszs).

(A) sieuCss Quain GLPIHEN G 6T <2}, 807 ()

(B) siauCss o evpeilLid Qe rseniis@ns@ 2 mneill b GupRIED 246
(C)  sieuCse wsaliissmar <y

(D)  sreuCse sspsdpsrar oyeamE
(E) e Qsfluefaane

In which year Flipkart signed a memorandum of understanding
with the Tamil Nadu MSME Trade and Investment Promotion
Bureau?

(Ar/zjm
(B) 2018

(C) 2001
(D) 2011

(E) Answer not known

Trta @ Enpscbenid

ahs el Gleflligmm, g,uS]%plmrr(b\ MSME QUTESHS LD L HmLD @g,QSL;@
pangg el Yilbgiammia| Lianluisdg e RUILBSSE GD&QM@‘&,@LL@?
(A) 2021

(B) 2018
(C) 2001
(D) 2011

(K) aflen Qsflwieldrena
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h ctly the following foundations with their corresp()nding
80. Match correctly ¥~

names : -
A. Singaravelgy

—

(a) South Indian Liberal Federation

(b) Kudiyarasu Journal 2. C. Rajagopalachay;

() Emergence of Labour Oragnisations 3. Thanthai Periyay

(d) Swatantra Party 4. C. Natesan
@ ® © @
A) 4 . 1
(B) 4 1 2
(o S T
(D) 3 4 1
(E) Answer not known

DD DD o W

Hamaumd iy ssamsmer o) Gsmiiyew  QuuisCarm@®  sfwns

Qumnmsss
(@) Qseraflsdu pe o Nanws smsib 1. A frsmCaei
(b) syurs Qs 2.  C. grgGasruneren
(¢) GsmPamreri Siewuiysefler Camimmib 3.  spes Quiwumd
d) sspdy s04 4 C. 5C5a
: . BGLgetr

@ ® © @
(A) 4 2 1 3
(B) 4 1 2 3
© 4 3 1 9
(D) 3 4 1 2
(E) efen Qafluefaena

CCSE2T/2024 54 p
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According to 2011 cengyg, the
is
(A) 450 per square km
5pd per square km
(C) 650 per square km
(D) 750 per square km
(E) Answer not known

density of population in Tamil Nadu

2011 wksar Qprens S 6RO 510 pHr g whser Qpras S iEH
A) 450 @ sgiy £.18

(B) 555 gm sgiyp .48

(C) 650 gm sgiy &.8

(D) 750 g g1y &.18

(E) &ler Qsflweldvena

Tamil women who were competent in literature, music and drama
were called as

udukkuravai
(B) Mudinmagalir _
(C) Viraliyar W 7z {—nf_pc_l:ﬁom
(D) Kanigaiyar
(E) Answer not known
PasHwud, @eas, BILSW fwuapdled Csied Qupp sOPL Querrser
GT6TM) &mQS&UUI'_L.GﬂI’T.
(A) (PEI&SHDM6U
B)  pyemosedi
C)  egeSlui
D) sefarswit
(E) afeni Qg Mwecilcraned

55 ' CCSE2T/2024
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83. Choose the right matches

among the following.

(1) Thiru.V.Ka | - D(.asabakthan

(2) Subramania Bharathiyar — Hindu |

(3) Annie Besant - N eVT{ India

(4) Kasthuri Ranga Ayyangar —  India

L)ﬁ//(?) and (3) only (B) (1) and (4) only

(C) (1), (3) and (4) only (D) (2), (3) and (4) only
(E) Answer not known

Gereumid uamss@ @ Gw sflurar durhsshismer Csirey Qewiwiayn,

(1)
(2)
(3)
(4)

(A)
(©)
(E)

84.
(A)
(©€)
(E)

(A)
(€)
(E)

£p.68.5 -  Gssusgaern

sLroelw umgdwm - Qb

sianafl Qugen . - By @pHwr

sevgnfl grais kst - @QpdHwur

(1) wpgid (3) i G (B) (1) wpgid (4) we o
(D), (@) wpgd> (4) e o (D) (2), (3) wppid (4) o G

e QsNweldrene

original name was Kumarasamy Nayak.

Kattabomman omaithurai

Dheeraq Chinnamalaj (D) "Marudhu Pandiyar

Answer not known

& @uihH Ly GLMTEME ©brwge,
_— Ty
CLGumbwelr (B) DO DS N1]
Sren fenanioana

D N
el G5 Muwiedcrang, (D) LD(H& LImedTiq wiff

CCSE2T/2024 56



85

Qv

86.

-ording to V ar ;
- 8 alluvar, what is the weapon to destroy the arrogance
of fO@S?

A 1'1101‘01811] (B) Force
) S5 (D)-Wealth
(E) Answer not known /) /7(

‘UG}&Q_HﬂG'ﬁT 5ﬂm§@§ DL . o . . . BHHH
GHUGES D sEd  apupd  eep  eudTEpell o
(A) &g (B) wenr

C) e (D) Qsweutd

(E) oo Qgflweicena

& that man desire it is plain whom others wealth

Delights not, feeling envious pain”.

Whom does Thiruvalluvar refers to in the given above Thirukkural?
or wealth nor virtue does that man

(B) 'Man of envious heart

(C) Envy they have within

(D) Goodman jm’ﬁ""’ i E,?yx_.;);-oom

(E) Answer not known

" Qe T&sLD

Guanrg) 2| (1p&SMIL ume .

Grerm Wreny £ (meueT@peu @m'luxﬁ\@élg)nn?
(A) e &S GoueTL_TS e

(B) =icueiiu @;5@&‘5‘5,%87

(C) siwss™y o @L_WImed

(D) Qscueduime

(E) ofler Gapfuciieoame
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87 What kind of Dhoti worn by maternal unele while Singing I“”“h_y
vouadentified?
(A)  Silk Dhota
(B)  Sandal Dhoti
(Y Thuvai Dhoti
O Mallu Dhoti
() Answer not known

SrONC OO ureéd nwionioen Hlg. @uhd Goul' iy euens 6T &) 7
A w@E Caulig
(B)  spsan Cautig
©) goa Caul g

D) weg Geul iy
(E) Ser GsNweddera

88. “Utruzhi uthaviyum uruporul koduthum?” _
What field is eulogised in this Purananootry Paadal?
)Jducation (Kalvi)
(B) Charity (Eegai)
(C) Integrity (Nermai)
(D) Truth (Unmaj)
(E)  Answer not known

(A) sae
(B) rmens
(C) Crienwn

(D) 2 awrenwn
(E) ol G5 flu 16l hep gy

CCSE2T/2024 58



g9, Choose the Sangam period in which the poet Nakkirar was

90.

considered the most predominant poet :

(a) First Sangam

() Third Sangam

(¢) Second Sangam

(d) Fourth Sangam

A () only &7 b only

(C) (c) and (d) only (D) (b) and (c) only

(E) Answer not known

80y Qar@ssuul(Heren srosded pesrt e (padlu HoITs THEE EME

sTssF CoTbeaTnss SmBSLILOEDTT? -

(a) s sRsD

(b) epeIHTD SRS Sea A 'J‘r)P-SLJ———-G )
it b

(c) @uammb FhsD

(d) prenETD Sh&D

A) (a) L@ - (B) (b) v G

(C) (c) whmid (d) LG (D) (b) wpmid (c) LLED
(E) e Qsflweildeame

One side of a rectangular field 1s 15 m and one of its diagonals 1s
17 m. Find the area of the field.

(A) 80 m? (B) 100 m?

(C) 110 m” QD«V}RO m”

(E) Answer not known

em Qacicus ages fosdldr @6 LsS Ijeey 15 § wpgd sér @0
ap@aei b 17 5 erefle, Hlagder LFLILETMG &TERTS.

(A) 80 52 (B) 100 52

(C) 110 b2 (D) 120 82

(E) &ler QsMweildena

29 CCSE2T/2024
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91. If 1,2, 2, 3,3, 3 are the faces of a die, 2 ﬂqch dice are rolled, |y, hoy,
| mm.w cases 2" die face 18 bigger than 14 die.
(A) 3
(B) 5
() 8
Oy
(E) Answer not known

1,2, 2 3,3, 3 wswdiiyse Qanem B useL_ser o mULOLED Qurmpg,
Ve useLar aps whHlienn el Qrem_reug Lisen ullesr CLIY T
2 fsors @més UTUILIYSET eTdgener ?

(A 3

B) 5

C) 8

(D) 11

(E) oSen Qsfwueldrene

92. If Rs. 10,890 is divided among A and B groups in the ratio 4:5 then
the group B’s share 1s

(A) Rs. 1,210
(B) Rs. 4,840

s. 6,050
(D) Rs. 5,445

(E) Answer not known

- 10,890 & A whHmn B erep @ GWEsEREE 4:5 D eldlssHa
Gfiggis QanGsgne B G Wil @ Sen_gin Csrens ereran»

A) m. 1,210

(B) . 4,840

(C) em. 6,050

(D) ew. 5,445

(E) &flen Gsflweideng

6
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93.

94.

cat=abc

If

dog =def
Then which one of the following may be equal to E”—:
co

(A) 2] (B) cha

aec ace
i 22 cbn

ace hec
(E) Answer not known
cat=abc o ~ tan _ _ - ;
— B(mHFmed E{ aretrLig)  L96ieu(mHeu eTeu HIDIET GT&H TGV
GMES UL D ?

cba
@ =2 ® &2

aec ace
(©) % o) &=

aec
I
(E) o QgMwaileenew jwr}ﬁg
é Ilzf)wjp _g(:_J:-‘OOQ

E&GBDM4NKH2ACZSV3F1JLOQ5PR
What will come in place of question mark in the following sequence?

GDR BMP D45 ?

A5 )MNQ (B) 4NQ

(C) MKO (D) M4Q

(E) Answer not known
E&GBDM4NKH2ACZSV3F1JLOQSPR
eSlerm @Lf)]uﬁg@é;@u udleons ai(Hbd Qamit erg)?

GDR BMP D45 7?

(A) MNQ (B) 4NQ

(©) MKO D) M4Q
(E) &feni Ggrﬂmaﬂ@mm
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95. A can finish a job in 6 days where'as B finishes. 1t 1n 12 dais' The
time taken to complete the job working together is ———— ¢
(A) 6 days ({d days
(C) 8days (D) 3 days

(E)  Answer not known

A eeruai g Gaumeanw 6 b seflgn B ererueur 12 BIL&GAQID (wpig y
aeiled, @meumd ety iad Goirbgl  <ibs Geuemeaani CTHESMET BTl gafg,

QPRUur?
(A) 6 priser (B) 4 mm ser
(C) 8 priser (D) 3 prsar

(E) o9en Qs flweldrena

96. A swimming bath is 24 m long and 15 m broad. When a number of

(A) 32 ' AB/36)

(C) 42 | D) 46
(E) Answer not known

(E) ofenc_ Glgfluweleane

CCSE2T/2024 i | B
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98.

Find the simple jp¢,

I‘(_‘,Ht, on ‘{ :
8. 68,( it 2
9 months. 000, at 162% per annum for

(A)  Rs. 7,500
(J})f’ﬁ}. 8,500

(D) Rs. 5,500

(C) Rs. 6,500

(E) Answer not known

&R Ul ly e9da i 2
2@ (H) 4 cildlgid 165% arafley em. 68,0004, ganug DIFEESEHESE e

Qul_lg eTedTenT?

(A) . 7,500 (B) ew. 8,500
C) . 6,500 D) @ 5,500
(E) e&len QsfNweldene
AP e

é L_nf»_;gﬂbOOQ

IfA:B:C=2:3:4then%:%:%isequalto
A) 8:9:10 (B) 8:16:24

. 9:24 (D) 24:9:8
(E) Answer not known
A:B:C=2:3:4aaﬂ®%1—g1%@‘m@m—l
(A) 8:9:10 (B) 8:16:24
(C) 8:9:24 D) 24:9:8
(B) oflenr @pfluciiooe
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99. Reaching the place of meeting 20 minutes before 8.50 hrg Suni]
found himself thirty minutes earlier than the maH'Wl")lo cam
40 minutes late. What was the schedule time of the meeting?

(A) 8.00 (B) 8.05

(©) 8.10 ,J,B')) 8.20

(E)  Answer not known

g

SaLlb gangasne 20 ABLL weamGo sefld et 8.50 Wanflg; g
Qaermmir. ABI@ Fal LD gaun@ashe 30 Blbl b apeararGy aUhg,) lel;Lg,na;
2 @ABSTT. Q5 wafgir sl Lsdne 40 Bl ib SMOFTOGLONG UBSTT erarflq)
Sl L geuhis Ghss Corb ererear?

A) 8.00 (B) 8.05
(C) 8.10 (D) 8.20
(E) e Qsfwefidena

100. A can do a certain job in 7% hours. B is 20% more efficient than A.

How many hours does B alone take to do the same job?

3
(A) 5 hours (B) 51 hours \p*’ﬁ?
(C) 6 hours (D) 6 hours \

(E) Answer not known ) P b LT
v
o

‘B’ aemuait ‘A’ eremLeuey ofl 20% @ifswrs Caama Qeudlpri. A g
Geueneenu 7% warfl Crrsded Qeuig pyé&donit erefier, B LLEL B
Cosmaenws Gawig pig s Top@an wafl Coyb a(sgis Qsmereumi?

(A) 5 weafl Coyid B) 55 wafl Cryi

(C) 6 wanfl Coyibd (D) 65 wefl Cryws

(E) &len Ggflweicrency

: 64
CCSE2T/2024 . B




{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

